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0.188mS

Nc= 256

t 124 .440
A S

10:56:36
04-01-2000

ONU-DASES ST ]




92?myU

i3t G E] #iH 00-90-1980 00:00

I RS A erSxin

A3 3K 3 A
NAM: XIN32u1

.
Z047 .08Hz
0 .488mS

1.041E+02mnU

Py . 1

10:27:506
©04-01-2000

1
1
2

No .
1

2

£ (H=2>
12 .451
24 .914

ACEU)

B BRI 55 4T

NAM: XIN32

1.043E+02
2.481E+01

PEAEIE (rms)

8F=
of =

NO.:

2047 .08Hz
1.9991E+00
Hz

1

57

o -

(C1: ¥§ fi

28
53.97562
1.1163E-00

I Z
0

nonon

AUR: S

: [(PI: 37 EQ

P | —

4 .306E+0ZmU

WABRE 12 c: xin

_—— e S
of = 1.9991E+00(Hz) 111 .9499Hz

10:28:35
04-01-2000
ONU-PASTE . 53]

i % ] A 00-00-1980 00:00

=28 SRR At i
NAM: XIN1#1

AN

i
'
'
‘
'
'
[

K |
\'X

AN
EANAN

\ \ f
\/

v

\/
/

0.0000

ot= 4.8850E-61(3)

5—42 21*

0.1997(S)

SF= 2047.08Hz
ot = 0.00058
N = 1024
Nc= 512
t = 0.250
N = —6.300E+01
ny
HZM = 1
AUR: 1
10:2%:53

7*
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V9.0m
0.3mm

53.8

A =0.3mm

n <400r/min n >1000r/min

5—43
m P L
f=12.5Hz 1/s w =257 rad/s

o °[ 3ED'g
4 x10*Pxr
DP L 57

E— 2.1 x10'N/en?
D— cm
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g— g=980cm/s’
P—— N 1N=0.1kg
L— 5—43 cm
5—7
D/cm 2 2.5
P/N | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 100 | 150 | 200 | 250 | 300 | 350 | 400
L/cm| 43 38 34 32 30 28 27 58 51 46 43 40 38 |36.5
L L
M M
] }
| 1
| }
7 I, /4 A 7
1 |
1 |
Fsinot i

/

IRB) I e

\

5—43

14
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541

20

54.2

EVH—50—60—10

90

§5.4

20

80
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§6.1
6.1.1
1.
M
1
A= M- M|
2
_A o = I M- M| 9
6 = M, x 100% = M, x 100%
2.
n M i M n
7_in
M= M
M

6—4
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6.1.2
1 Grubbss
1
G>Gan 6—6
2
@ n X, X, Xq X, X S
G = | X Xl 6—7
S
@ 6—1 a n Gan
©) G>G an Xq X,
1 a “ ?
2 n<25
6—1 Gan
o o o
n n n
0.01 0.05 0.01 0.05 0.01 0.05
3 1.15 1.15 12 2.55 2.23 21 2.01 2.58
4 1.49 1.46 13 2.61 2.33 22 2.94 2.60
5 1.75 1.67 14 2.66 2.37 23 2.9 2.62
6 1.94 1.82 15 2.70 2.4 24 2.99 2.64
7 2.10 1.94 16 2.75 2.44 25 3.01 2.66
8 2.22 2.03 17 2.78 2.48 30 3.10 2.74
9 2.32 2.11 18 2.82 2.50 35 3.13 2.81
10 2.4 2.18 19 2.85 2.53 40 3.24 2.87
1 2.48 2.23 20 2.88 2.56 50 334 2.96
6.1 12 T o0
N/mm?
236. 33 226. 47 250. 38 263. 22 251. 66 288. 84
240. 35 247.76 189. 12 256. 86 270.25 231.42
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n=12
=LY = 246.06
n<, "
s= [ 1 3 x-x?=2.05
n- 1<,
@=5% «=0.05 n=12 61 Gan =223
189. 12
_1189.12 - 246.06| _
G 24.95 2.28
G=2.28>G an =2.23  189.12
11 X=251.25 S=18.18
@=0.05 n=11 61 Gan =223 288. 84
n=11 X=251.25 S=18.18 G:|288'81‘g'12851'25|:2.07 G=2.07<G a n =
223 288.84
2.1
1t
K>Kan 6—8
2t
@® X, X, X,
@) n Xy X n-1 X
s
K =% Xl 6—9
S
) 6—2 o n Kan
@ K>K an Xy X,
6—2 t K an
o o o
n n n
0.01 0.05 0.01 0.05 0.01 0.05
4 11. 46 4,97 8 3.96 2.62 12 3.31 2.33
5 6.53 3.04 9 3.71 2.51 13 3.23 2.29
6 5.04 3.04 10 3.54 2.43 14 3.17 2.26
7 4.3 2.78 11 3.41 2.37 15 3.12 2.24
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03 03 03
n n n
0.01 0.05 0.01 0.05 0.01 0.05
16 3.08 2.22 21 2.93 2.15 26 2.85 2.10
17 3.04 2.20 22 2.91 2.14 27 2.84 2.10
18 3.01 2.18 23 2.90 2.13 28 2.83 2.09
19 3.00 2.17 24 2.88 2.12 29 2.82 2.09
20 2.95 2.16 25 2.86 2.11 30 2.81 2.08
6.2 8 002
N/ mn? 263.2 228.95 265.04 274.28 261.15 262.94 266.95 274.54
X, =228.95 X, =261.15 X; =262.94 X, =263.20
X =265. 04 Xs =266.95 X, =274.28 Xg =274.54
X =%, =228.95 X =X X S
I
X = 7iZZXi = 266. 87
1 8
— v 2 =
S = J7 - 12‘2 X, - X 5. 46
_ I % - X| _|228.95- 266.87| _
s 5.46 = 6.9
«a=0.01 n=8 6—2 K an =3.96
K=6.95>Kan =3.9
X, =X, =228.95
a=0.05 n=8 Kan =262 3.9 1% 5% x
6.1.3
EE S L AL
F Hooke R.
X
x=1fx X X,
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X1 % X, AX, AX, AX,

X X, X X

n

AX=T X, +AX, X, +AX, X, FAX, - T X X X,

_ o of s -
Ax=T X, X, Xq +aXle1 +ax2AX2 + +aanX” fx X X,
X
ax = P+ Maw v+ 9y 6—10
9%, %, X,
6—10 X X
_AX _ 1 of of of
O, = — =—| — + — + o+
X " X axlel aXzAx2 aanX”
_ ot A of A% af A%,
% X 9%, X X, X
:ﬁifx +éifax + +ﬁ af N 6_11
X 90X, L X 9%, 2 X X, ™
8x1 sz 8xn Xl X2 Xn
6.3 Ky K,
P a
K —_'9
K, = KQ - B\N”Zy(W)
6—11 K,
AK 110K oK oK oK,
5. =0 = 2[00 o g\ o | WMo ]
@ 7Ky Kol g 2B Y awAW T gp APe Ty Y

:}i?[ - BZI?A(;QY( VEV)AB - ZBF\)/(\QIB/Zy( %)AW + B\/:b“zy( %)APQ + %Ay( %)]

_11 aB 1 AW, | AP, Ay]
KQ[ T BReT 2 whetp Ke Ko
AB 1 AW APy, A 1
B w R, Ty T gt
AB AW AP, Ay
5Kq:‘58 +%‘5W‘+‘5PQ + 16,

85 <0.5% 6,,<0.5% & <2% 5,<7%

AK
5, =—2= 0.5+0.5+2+7 % =9. 75%
KQ KQ

AK,
S, = ——2<10%
KQ KQ

Z|
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6.2.1

2.300 x 10*
2.3 x10"
3.

“ 01

23 000

6—4

§6.2

M
6—5 M
t
50. 3
1. 343mm
1. 340mm o
0. 001340m “ 1
13 011
" 0)1 1] O”
2.30 x10*
2.3000 x 10*

4000. 2
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1987 G81770—87 “ o
13.3452—13. 3
25. 4743—25.5
2. 05501—2. 06
2. 08500—2. 08
2. 07500—2. 08
6.2.2
S _&/n
XS t 6—12
o— 5%
n_
t— r t 6—3
_ I
X—— X = =3 X
n 2
n n
Y ox-x? Y x? - nx
S S — i=1 — i=1
n-1 n-1
6—12
6—12
Kic n
6—3 t
al
0.10 0.05 0. 025 0.01 0. 005 0. 0025 0. 001 0. 0005
n-1
1 3.078 6. 314 12. 706 31. 821 63. 657 127. 32 318. 31 636. 62
2 1. 886 2.920 4, 303 6. 965 9. 925 14. 089 23. 326 31. 598
3 1. 638 2. 353 3.182 4, 541 5.841 7.453 10. 213 12. 924
4 1. 533 2.132 2.776 3. 747 4, 604 5. 598 7.173 8. 610
5 1. 476 2.015 2.571 3. 365 4,032 4,773 5. 893 6. 869
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la / 0.10 0.05 0.025 0.01 0. 005 0. 0025 0.001 0. 0005
n-

6 1.440 1.943 2.447 3.143 3.707 4.317 5.208 5. 959
7 1.415 1.895 2. 365 2.998 3. 499 4. 029 4.785 5. 408
8 1.397 1. 860 2. 306 2. 896 3.355 3.833 4.501 5. 041
9 1.383 1.833 2.262 2.821 3. 250 3. 690 4. 297 4.781
10 1.372 1.812 2.228 2.764 3.169 3.581 4.144 4.587
11 1.363 1. 796 2.201 2.718 3. 106 3.497 4. 025 4. 437
12 1.356 1.782 2.179 2.681 3.055 3.428 3.930 4.318
13 1.350 1771 2.160 2. 650 3.012 3.372 3. 852 4.221
14 1.345 1.761 2.145 2.624 2.977 3. 326 3.787 4. 140
15 1.341 1.753 2131 2. 602 2.947 3. 286 3.733 4.073
16 1.337 1. 746 2.120 2.583 2921 3.252 3. 686 4.015
17 1.333 1.740 2.110 2.567 2.898 3.222 3. 646 3. 965
18 1.330 1.734 2.101 2.552 2.878 3.197 3.610 3.922
19 1.328 1.729 2.093 2.539 2.861 3.174 3.579 3.883
20 1.325 1.725 2. 086 2.528 2.845 3.153 3.552 3. 850
21 1.323 1.721 2.080 2.518 2.831 3.135 3.527 3.819
22 1.321 1.717 2.074 2.508 2.819 3.119 3. 505 3.792
23 1.319 1.714 2.069 2.500 2.807 3.104 3.485 3. 767
24 1.318 1711 2. 064 2.492 2.797 3.091 3. 467 3. 745
25 1.316 1.708 2. 060 2.485 2.787 3.078 3. 450 3.725
26 1.315 1. 706 2. 056 2.479 2.779 3. 067 3.435 3. 707
27 1.314 1.703 2.052 2.473 2771 3.057 3.421 3. 690
28 1.313 1.701 2.048 2. 467 2.763 3. 047 3. 408 3.674
29 1.311 1.699 2.045 2.462 2. 756 3.038 3. 396 3. 659
30 1.310 1. 697 2.042 2.457 2.750 3.030 3.385 3. 646
40 0. 303 1.684 2.021 2.423 2.704 2.971 3.307 3.551
60 1. 296 1.671 2.000 2.390 2. 660 2.915 3.232 3. 460
120 1.289 1.658 1.980 2.358 2.617 2. 860 3.160 3.373
1.282 1.645 1. 960 2.326 2.576 2.807 3.090 3.201
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6.4 B =15mm Lo, K.
90% 5%
ch
29. 87 >MPa /m 29. 65MPa /m  32.41MPa./m
n=3

n=3 r=90%
S >5tﬁ K,, =30. 2LMPa /m
K. n=4 29. 87MPa /m 29. 65MPa /m 30.21MPa /m 32.41MPa./m
s_1l2zr _,
X ~30.54 4%

n=4r=90%  6—3 1 =2.353
5N _0.05/4 _; oy,

t 2. 353

r

x|
>
3

K,. =30. 54MPa /m Kic

6.2.3
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Xy
ab

n Xy, 1=12 n

y = a+ bx

zyizxiz' inzxiyi

”Z X - (in)Z
:nzxiyi_ inzyi
”2 Xiz' (z‘,xi)2

n Xy

I:II%J:IDDQI:I

r = Ny XY= 2%V __ Ly
JIZ - (2T v - (T Vb

Ly =Y X-X Y-y

n. n- XX—EXi'izLyy:ZYi'yz

[r] =0 X Yy

y=a+bx

xOy

6—13

6—14
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Oo<|r|<1 x vy
Irl—1 Xy
[r|=0.8
2.
r 0.8 X Yy
r r
n 6—3 b 6—3 b X y
vA YA
o > o >
X X
@ (b)
6—3
6—4 n-2 a=0.01 «
=0.05
r, r r
6—4
03 o
0.05 0.01 0.05 0.01
n-2 n-2
1 0. 997 1. 000 10 0.576 0.708
2 0. 950 0. 990 11 0.553 0.684
3 0. 878 0.959 12 0.532 0. 661
4 0.811 0.917 13 0.514 0.641
5 0. 754 0.874 14 0.497 0.623
6 0. 707 0.834 15 0.482 0. 606
7 0. 666 0.798 16 0. 468 0. 590
8 0.632 0. 765 17 0. 456 0.575
9 0. 602 0.735 18 0.444 0.561
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o o
0.05 0.01 0.05 0.01
n-2 n-2
19 0.433 0.549 30 0.349 0. 449
20 0.423 0.537 35 0.325 0.418
21 0.413 0.526 40 0. 304 0.393
2 0. 404 0.515 45 0.288 0.372
23 0. 396 0. 505 50 0.273 0.3%4
24 0.388 0. 496 60 0. 250 0.325
25 0.381 0. 487 70 0.232 0.302
26 0.374 0. 478 80 0.217 0.283
27 0. 367 0. 470 90 0.205 0. 267
28 0.361 0. 463 100 0. 195 0.254
29 0.355 0. 456 200 0.138 0.181
1 r=—— r
/oL,
2 o n-2 6—4 r,
3 [r] r [r] <r, X y r
a X
6.5 g g—s IgAK 6—5
X o« =0.05
65 lg $2 - 1gak
X Yi
IgAK | (lgé,]'f,"f,)i W d v
1 1.729 4 -4.7356 -8.1897 2.990 8 22.425 9
2 1.7576 -4.8215 -8.4741 3.089 2 23.249 6
3 1.7832 -4.568 4 -8.146 4 3.1798 20.870 3
4 1.803 9 - 4.644 4 -8.3780 3.254 1 21.5705
5 1.8229 -4.568 5 -8.3279 3.3230 20.871 2
6 1.8430 -4.4970 -8.2880 3.396 6 20.2230
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) y(ija Xy X2 yi?
o | ()
7 1.8637 -4.4377 -8.2705 3.473 4 19.639 2
8 1.8837 -4.336 4 -8.1685 3.5483 18.804 4
9 1.9154 -4.2214 -8.0857 3. 668 8 17.820 2
10 1.9952 -4.008 2 -7.997 2 3.9808 16. 065 7
11 2.0000 -4.1000 -8.2000 4.0000 16.810 0
12 2.0496 -3.8183 -7.8260 4.200 9 14.579 4
13 2.0743 -3.8925 -8.0742 4.3027 15.151 6
14 2.100 0 -3.9500 -8.2950 4.4100 15.602 5
15 2.1441 -3.7538 -8.0485 4.597 2 14.091 9
16 2.2103 -3.7162 -8.2139 4.8854 13.8101
2 30.976 3 - 60.069 9 - 130.983 6 60.301 0 291. 6359
1 6—2
2 6—5 in ZYi inyi inz ZYiz
6—14 b=2.4251 a= - 8.9494
3
n XY - X i
r= ZVZZ 2y — =0.975
2 2
«/[”in '(in)][nzyi _(EYi)]
4 a=0.05n-2=14 6—4 lo.os =0. 497
[r] =0.975> 1, =0.497 X Yy
y = - 8.9494 +2. 4251x
da _
lgﬁ = - 8.9494 +2. 42511gAk
Igc= - 8.949%4 c=1x10""°
m=2.4251=2.43
da -9 2.49
—=1x
dN 1x10°° AK
ga -\

dN
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§7.1

7.1.1
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7.1.2

pdle)



F R
{ ] e A,
o) /J’ S
! .
(@) FEHL
lﬁ
FTF+FF °
e
ol
(c) HIk
7—1
7—2
_ /K
w, = (VN
m
Pt X t
Ft =KXt
7—2 7—3 7—2

5
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TF+T

I

T 0
| 1
L
—|—Ca _= Ce :rlRO
2 o *—dl o
(d) %535 %
7—2
K C
m
m
7—3
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/ ///" 3
Ao 0a ,.inﬁj g
o] Ao >4
\5
[ 1] i e N
1— 2— 3—
4— 5— 6—
7—2
Q= DK@ t _
_D DK ¢ -
V= CF Ca)ﬁ? t 7—5
7—4 7—5
1
2
—A4 7—5
Q DK o
S = —— PC/m- s 7—6
"ot o (PC/ )
\ DK L
e mv/ m- s 7—7
S ¢t Co, (mv/ )
C
3

1% ~5%
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4
1 1
10 5
10kHz
0. 3Hz 0. 003Hz
5
5% ~10%
YD—1
200m/s* YD—15 30 000m/s* YD—13 10m/<
7—1
7—1
/9
S/ PClg |S,/ mVig I mis |1 %
JC—1B 4.5~6.5 1~3 > 30kHz <30000 | <10 4
JC—2 10 ~ 20 15 ~25 >13kHz >5 000 <5 | 17.5
JC—3 10 ~ 20 15 ~25 >10kHz >1 000 <5 22
YD-1 30 ~ 130 2 ~1 800Hz 200 <40
YD—3—G >3 2 ~10 000Hz <12 260
YD—4—G >8 2 ~10 O00Hz <12 260
YD—5 3 2 ~20 000Hz 30 000 11
YD—8 8 ~10 2 ~18 000Hz 500 <2.6
YD—12 40 ~ 60 1 ~10 000Hz 500 25
YD—45 23 10kHz 5% 15
YD—47 6.7 10kHz 5% 9
YR—5 100 +£2 +500 <10 | =40
Eb—10 16 10kHz 5% 9
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/

s,/ PClg IS,/ mVig i 1w | 9

CZ3—14 0 5kHz 5% 44

150
ZFSO25 20 20 5kHz 100 <10 20
3.
W e
VYL ) _
e Wdt 7—8
7—3
2 I v @
1
N\
3
(a) H & IZ 3 (b) He %32
1— 2— 3—
7—3
7—3 a
e = WBIvsing 7—9
B_
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[— m
— m/s
0_
0 =90° 7—9
e = WBIv
W B |
7—3 Db
e = KWBAw
w— rad/s
A—0o cn?
K— K<l
7—11 WB A
w
Ch-1 65
1 Cb—1
7—4 CD—1
3
N
A
N
N
1— 2— 3— 4—
5— 6— 7—
7-4 CD—1
2 65

7—10

7—11

701
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N

/////////WWMN“ ;

N

=

5 === EV
% /
[

1

t

4— 5—
Xt Xt Rt
Yt Yt 9t

2t

2—
7—5 65
65
v4
=Rt +9t

701

1—
=X1 +Y 1t

Zt Zt Pt

701—S

7—6

3 701
701



/Hz / mV/cm/s /g
g /mm
Ch—1 10 ~500 600 5 +1.0 700 Gz1 Gz
CD—2 2 ~500 300 10 +1.5 800
cD—4 2~300 600 +15 1200
0.5~20 +6.0
CcD—7 6 000 <1 1100 GZ6
1~100 +1.0
BZR—16 15 ~ 200 +0.5 1000 ZDS- 4
65 2-~50 3700 +0.5 5 000 701- S
0.5~10 150 +6.0 1 500 oL- S
701 1~100 1650 +0.6
1~20 1650 1500
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X m X E Z
Kéc X |
i

=

Z l lC(Z'—y')ZZ

Yosinwt
h<

IMTTITAINN

Z ~ F
/u/ /}i(/#};// %_ﬂj' 7 “‘: olY K(Z-Y)
v F
of |  El, (b) TRt m B 162 77
////’////////////////////// /////4"
(a) BB WIERE
7—6
7—6 b m
m2t=-CZt-Yt -KZt-Yt
m Xt=Zt-Yt Xt =
Zt-Yt Rt =Pt -9t
mRt +CXt +KXt =-mPt 7—12
Y t =Y,Shot
7—12

mRt +CX t +KX t = - mYye’snet

Xt =Xsn ot- ¥ 7—13
7—13 X t
2
Y. [ @
= D(‘”“) = Yor” 7—14
ST ey e
wn wn
26 &
v = arctan¢2 = arctanrzé’\? 7—15
1- (2 )
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A =2 w w, = /ﬁ
w, m
_ C
ér_Za)nm
7—13 Xt Y t
14
X t A & X t
1
A== g<1 7—14
wn
Yo
X, = ~ Y, 7—16
1 l 2 gé 2
I BT
w >>w, &<1
Xt
w >>w, £<1
7—16 7—15
A & _
7—7 — 7—8
X0
Yo
£=0
A=
3 4 On
7—7 —
7—7
Xo
DO w>w, ¢<1 A=25 =1 m
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AV
180° 0.2 0.4

— [&=1.0

120° %/

90

60°

Vi
w| )]

0] 1 2 3 4
7—8 —
@ £=0.6~0.7 @~ A @ =2
wn Wy,
XO YO
7—8 —
w >>w, —
2
w=w, £>>1 A=Y =1¢>>1 7—14
_AY, oYy 1
X, = 2% " 2tw " ZgwnY" 7—17
m
o)
2w,
3
3
a)<<a)n §<1 a)<<a)n §<1 7—14
Y A? Y,w® "
X = A ~Yar == Ly, 7—18
V1-A2 %2+ 282 ° w, w,
w, ® &<l
moX %, <
w

o <<w, w,
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<1

A=0-~0.4

£=0.7 —

w A =2
Wy
X 2
7—18 =% S —
" 9,
7—9 7—9 £=0.65~0.70
X 2
o@n 1 0. 1%
%,
7—8 o <w,
1'4 A
X!
A 'Y'O
7 |-
2.0
1.5 £ \ &0
0.5 \\\
1.0] \Q707 \\\
0.6 - SPNi
0.5 1 \
0.4 } \Vo \\
0.3 | S \
[
02 i N
| \ \
N
0 02 0405 10 2.03.0
7—9 —
5.
'S
c=%2°
1)
S— m
o— m
, F
g F
m
7—19 C

S

7—19

7—19
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7.1.3

M < 15 ©

10.
11

7.1.4

10kHz

1Hz
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4,
5.
6.
7.1.5
X—Y
1.
X—Y
13 0)7
10
Fi SS F
S = aF, 7—20
a
>, SF
a=-"" i=12 n 7—21
2R
i=1
_ i S 0
g = x 100% 7—22
S, S 7—20
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X—=Y
30% ~80%
50% ~80%
X—Y
§7.2
7.2.1
1. Gz—2
GZ—2
Chb—1 CD—2
GZ—2
GZ—2
2 ~10 000Hz <5%
0~10mv ~31.6V 8
+4.0%

4mA
Y\Y,

50% ~ 80%
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+10%
-10 ~ +40
10kg
2.701—5
701—5
701
GZ—2
701—5
701—5
36kQ)
= 5,_LV —_
5x10° mV/PC

I =620 10C/s
I =620 1C/s
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/ mxmm / mm/s S /mm /m
SC—8 6 15 ~18 x92 0 56~500 101001 FC 130
10 61 35| 2~1000
—1 10.10.01 F 2! ~2.
SC—10 10 x 60 6 0.10.0 C7 50 0 5
SC—14 ig 30 x60 ~ 120 5 Nsl 101001 FCl11 200 0~3.0
30 x120 5~3500
—1 16 101001 F 300 0~3.
SC—16 9 60 9 0.0 6 0
4 ~ 200 0.2 0.02
N X
SC—17 4 6 x60 4 0.0l FC 150
30 x100 120 5~2500
SC—18 24 150 180 200 9 101001 FC6 300 0~3.0
10 15x33 | 5~2500
—2| 10.10.01 FCl11 2 ~3.
SC—20 16 30 x 120 9 0.1 0.0 Cl 00 |0 0
SC—22 12 15 x 120 2 58~500 101001 FC13 300
SC—23 8 15 x92 15~500 1 0.01 FCl11 120
1~5000 |2 0.2 0.02
- 4 FCl11 X
SC—30 30 0 x 300 1 0. 002 Cl 400 0.5
30 x120 1~4000
SC—60 60 200 300 12 10101000 FC7 400 0~4.0
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/Hz IHz l, =1000mm / mm/mA | /0 0.6-0.7/0 /mA / mm
FC6 - 10 10 0~5 65 000 120 =2 000 0. 004 +80
FC6 - 30 30 0-~10 10 000 120 900 0.05 +100
FC6 - 120 120 0~60 2800 50 275 0.2 +100
FC6 - 120A 120 0~40 2800 28 0.2 +100
FC6 - 400 400 0 ~ 200 240 50 20 2 +100
FC6 - 1200 1200 0 ~ 400 40 20 5 +50
FC6 - 2500 2500 0 ~ 600 8.17 16 30 +50
FC6 - 5000 5 000 0~1700 15 12 80 +30
FC6 - 10000 10 000 0 ~4 000 0.12 14 100 +10
FC7 - 120 120 0~60 4 000 150 400 0.06 +100
FC7 - 400 400 0 ~ 200 250 85 25 1 +100
FC7 - 1200 1200 0 ~ 500 35 22 5 +60
FC7 - 2 500 2500 0 ~1 000 5 16 40 +60
FC7 - 5 000 5 000 0~1 700 1 9 100 +40
FC7 - 10 000 10 000 0 ~4 000 0.22 9 120 +10
FC11 - 400 400 0 ~ 200 250 30 35 1 +80
FC11 - 1200 1200 0 ~450 52 22 5 +60
FCI1 - 2 500 2500 0 ~850 8.5 16 40 +60
FC11 - 5000 5 000 0 ~2 000 2 14 80 +40
FC11 - 10 000 10 000
FC9- ID 100 0-~40 =170 10 2 +100
FC9- 1D 200 0~80 =60 10 5 +100
FQO- 1IG 200 0~80 =600 1 500 0.5 +100
FC9- VD 500 0 ~ 200 =12 10 2.5 +100
FC9- VG 500 0 ~ 200 =120 1 500 2.5 +100
FC9- XG 1 000 0 ~ 400 =22 1 500 15 +100
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/mm / cm/s /kHz /dB 1Q 1Q v 1%
3.125 ~ 100 0~10 AC 14
&, FM 16 25.4 >36 >20 <50 <3
6 +1dB 220 +10% 2
4.75~38
<, FM 4 6. 35 0~5 >32 >30 <50 DC24 +1 <3
4
7+1 4.75~152
X, FM 12.7 0~20 36 ~43 16 20 DC24 ~ 27 <2
6
14
AC
&, FM 16 25. 4 1/3.2 0~0.02 >37 >50 <50 <3
220 +10%
72h
6. 25 ~ 200 AC
JCM-101| FM 18 25.4 0~20 >40 100 <10 <2
6 220 £10%
4.75
DR AC
9.5
DR 7+1 0.2~250 | DR>30 DR=<200 |220 +10% A
JCM - 201 12.7 76 100 <3
FM FM FM >40 FM<40 DC B C
152
0~20 24 +10%
4
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